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o FUI AT F T [ 57 FeT-U7 4 FRa g 16 T F97 40 &)

Please make sure that the printed pages in this question paper are 16 in number
and it contains 40 questions.

o U97-YH 7 e & @ G 9 T4 IS TR 7o e GH FTI-YraH # JEI-g=T 97 [

The Code No. and Set on the right side of the question paper should be written by
the candidate on the front page of the answer-book.

o FYF J9T H TV TG J& V7§ Yeer, J9T H B AT [T
Before beginning to answer a question, its Serial Number must be written.
o FUT-YikTHE % &= H @Il §i/9 T 85

Don’t leave blank page/pages in your answer-book.

o FT-YRTHE B SIRFT HF o de Tel T o SEvIRagEr & g st frar Fav T
FI2]

Except answer-book, no extra sheet will be given. Write to the point and do not

strike the written answer.
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(2) 2109/(Set : A)

o TR U AT To JeT-UH T Haed [@ T To & SARFT FIT-YH G o FE A T
frd sit dmfoqs g9t @ Rl 9¥ el Jre @ 9T T g

Candidates must write their Roll No. on the question paper. Except Roll No. do not
write anything on question paper and don't make any mark on answers of objective

type questions.

o YT F97 % FT 37 @ g4 F FAkEd F A & Je7-97 [ T & 8, ThEr F ITT 59
T § #ig 4 @ whwre Tl A @

Before answering the questions, ensure that you have been supplied the correct and
complete question paper, no claim in this regard, will be entertained after
examination.

G 59T -

General Instructions :

(9

(@)

(i)

()

(v)

(vi)

(vii)

a4 go7 Sfard &

All questions are compulsory.

T JoT B TF T AT T T 8

Marks of all the questions are shown against them.

[ 797 & G GFI & TV G &I 9T G don

Attempt all parts of a question together.

1 &% a1t Je% 597 T FX R &l

Answer to each question as per instructions carrying 1 marks.

2 9% I J9% F97 [ FI¢ 30 Sl 7 3w 7T &l

Answer to each question carrying 2 marks should not exceed 30 words.

3 S7%l art He% 597 # FIT 40 & 60 =T G 9% T &l

Answer to each question carrying 3 marks should not exceed 40 to 60 words.

5 & g7 J9% §97 # 3¢ 100 @ 125 91 @ 37 7 &Y

Answer to each question carrying 5 marks should not exceed 100 to 125
words.
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(3) 2109/(Set : A)
(viii) 797 GEIT 40(A) % [T [T T4 [9q & Iar Frfa7 ¢7 797 T&r 40(B) & [T &’y
7T T % VG A B ST FA-YRAE B G ST FA T B

You must attach the given outline map of the World for Question No. 40(A)
and outline map of India for Question No. 40(B) along with your answer
book.

(ix) PYFT T YT 77+ TAC-GReal & FH o777 [olEg

You must write your Answer Book Sr. No. on the map.

qgus -9
SECTION - A
(aEgfrs a%)
(Objective Type Questions)
TR He
Multiple Choice Questions :
1. T o 59 a8 &1 9 8 ? 1

(A) FA (B) A=
(C) |mMag (D) ereda

Gayatri Mantra is the Mantra of which Veda ?

(A) Rigveda (B) Yajurveda
(C) Samaveda (D) Atharvaveda
2. ‘HARFY ART A oI G Sl WA e &l ? 1
(&) =1 (B) H el
(C) ¥e o (D) [T THIEY FERHT

Who founded the secret organization called 'Abhinav Bharat' ?
(A) Krishna Verma (B) Curzon Wyllie

(C) Madan Lal (D) Vinayak Damodar Savarkar

2109/(Set : A) P.T.O.



(4) 2109/(Set : A)

3. WEAT HHIYE WRA B @M 7 1
(A) 1918 (B) 1928
(C) 1930 (D) T & Hig -l
When did Simon Commission came to India ?
(A) 1918 (B) 1928
(C) 1930 (D) None of these
4. FHAHA B GRC § TEA-1Y T Bl e oo A fqeiora feam s © ° 1
(A @ (B)
(©) =X (D) U=

From the chronological point of view, Saraswati-Sindhu Civilization is divided
into how many phases ?

(A) Two (B) Three
(C) Four (D) Five
5. 2019 ¥ WiwdA § Higen WEEl H GEA b e o ? 1
(A) 20.45% (B) 18.05%
(C) 14.36% (D) 25.07%
What was the percentage of women MPs in Lok Sabha in 2019 ?
(A) 20.45% (B) 18.05%
(C) 14.36% (D) 25.07%
6. dfcom § e e A ‘SE AT did § ¢ 1
(A) 40% B) 59%
(C) 74% (D) 18%
What percentage of people speak Dutch language in Belgium ?
(A) 40% B) 59%
C) 74% (D) 18%

2109/(Set : A)
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7. MRG # ARG & [T SARET H e A R © 1
(A)  paer § B) e &
(C) wfmusd & (D) Yamdl U |
Reservation has been made for women in India :
(A) In Lok Sabha (B) In Vidhan Sabha
(C) In Cabinet (D) In Panchayati Raj

8. UsTg A eRaen H fee ufied 4 W & Bl & 7 1
(A) 50% (B) 80%
(C) 65% (D) 90%
What percentage of land is cultivated in Punjab and Haryana ?
(A) 50% (B) 80%
(C) 65% (D) 90%

9. T YT P GIW I H e UL ST I HA © 7 1
(A) 40% B) 31%
(C) 52% (D) 60%
What percentage of the country's Copper is produced by the mines of Madhya
Pradesh ?
(A) 40% B) 31%
(C) 52% (D) 60%

10. &G AR el &5 e omeaR ) e § 1

(A) ASFIX FI gt (B) onfi¥e ety & w@wE
(C) =i &l G (D) TEH &% @i

2109/(Set : A) P.T.O.
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On what basis is the Public and Private sector divided ?
(A) conditions of employment

(B) nature of economic activities

(C) number of worker

(D) ownership of enterprises

11. ‘fafs & Jrem’ 59 el A g ? 1
(A) % (B) €&
(C) &1 (D) 9T

What is called 'medium of exchange' ?

(A) Bank (B) Credit
(C) Currency (D) Loan
12. SMUEIRE SURETTT ¥ B e & ? 1
(A) TEHER (B) e
(C) ar (D) SIWe |l
Who is an informal lender ?
(A) Moneylender (B) Businessman
(C) Friend (D) All of the above

TF a9 § SO & ¢

Answer in one sentence :

13. TXEI-feyg g 7 ofdfte depr @i fha faftwt sefa o 2 1

How many methods of funeral rites were prevalent in Saraswati-Sindhu
Civilization ?

2109/(Set : A)



14.

15.

16.

17.

18.

19.

(7) 2109/(Set : A)

el 7 fhe o B T g & BT F g T B 7 1
Which religion has been adopted as the state religion in Sri Lanka ?
ARG § qSH B &I B SEN W 32 b awit o aviiggd [l T & 7 1

In how many categories are the roads classified in India on the basis of
capacity ?

R &\

Fill in the Blanks :

TETCHT P& BT STH oo $0Jo ¥ EAT Il 1
Mahatma Buddha was born in ................ B.C.

................ W SR fawem fie wRdg g & & 3e & B o 1
Division, based on .................. is seen only in Indian society.

Tl 8Tl & SR & NTEA Bl O Bl ceeeeerernnnnnnn FEd &l 1
The sum of the production of all three sectors is called the .................. of the
country.

Frfamiead g (Jo Ho 19 T 20) § -3 F&H RU T &, AREEA (A) T BRI (R)I
ST YAl bl SYED GhY A AU U faehedt § @ faebed g

The following questions (Q. No. 19 & 20) have two statements each, Assertion
(A) and Reason (R). Read both statements carefully and choose the correct
option from given options in below.

AHIT (A) : 1992 § FApaitis MO FIE F AR B SGEl e o e
SHET & 1

FROT (R) : 979 ©FY @l FaEl & e Fafa §9 9 ST a9 ST ol
ey

(A)  AREET (A) R FROT (R) AMT T & AR BN (R) SARBIT (A) F HEl TREIBIT 2
(B) 3AHI (A) SR FRO1(R) A1 T &, Al BT (R) ST (A) HT Tel WLIB el 2l
(C) IR (A) T &, AfPT BRI (R) T8 2

(D) IR (A) STET B, AfBT BRI (R) T B

2109/(Set : A) P.T.O.
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(8) 2109/(Set : A)
Assertion (A) : In 1992, the third-tier of democratic governance was made more

powerful and effective.

Reason (R) : Now it is a constitutional obligation to conduct regular elections of
local self governing bodies.

Options :

(A) Both Assertion (A) and Reason (R) are true and Reason (R) is the correct
explanation of Assertion (4).

(B) Both Assertion (A) and Reason (R) are true, but Reason (R) is not the
correct explanation of Assertion (A).

(C) Assertion (A) is true, but Reason (R) is false.

(D) Assertion (A) is false, but Reason (R) is true.

HIT (A) : TAIH &8 H QAT T B @9 H S AT 2 1
PR (R) : TAD & § el &1 e H¢ aral Mafarear i 2

fopeT

(A) BT (A) MR BRI (R) IHT T & IR BROT (R) SAHHAT (A) F Tl LB B
(B) 3A¥HI (A) SR FRO1(R) A1 T &, Qb BT (R) ST (A) T Tel WLIH -7l 2l
(C) ST (A) &, AfFT BROT (R) T8 &l

(D) IR (A) STERT B, AfBT BRI (R) T 2

Assertion (A) : Tertiary sector is also known as Service Sector.

Reason (R) : The tertiary sector includes activities that produce goods.

Options :

(A) Both Assertion (A) and Reason (R) are true and Reason (R) is the correct
explanation of Assertion (A).

(B) Both Assertion (A) and Reason (R) are true, but Reason (R) is not the
correct explanation of Assertion (A).

(C) Assertion (A) is true, but Reason (R) is false.
(D) Assertion (A) is false, but Reason (R) is true.

2109/(Set : A)
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22.

23.

24.

25.

26.

27.

28.

(9) 2109/(Set : A)
g -g
SECTION - B
(sf g Soa ue)
(Very Short Answer Type Questions)

TN JAI TH A @ BE-H & N f ofer o ? Yot Vor Vot Va=2

How many and into which classes was the Medieval European society divided ?

o9 FT B © ? 3R TG H TG T HeAw o 7 141
What is a Church ? What is the head of Christianity called ?

g S A B A 7Y B 7 2

What does majority rule mean ?

81T & [ Fed & ? =Ramen & bk @ &eig g sy 14+ %+

What are regional parties called ? Name two regional parties in Haryana.

qRd & a9 ] 9 S |1 0 STaeTd § 7 2

Why is forest and wildlife conservation important in India ?

el F qg-IeT TRASHT Fif HeT ST & ¢ 2
Why are dams called multipurpose projects ?
fasq AR Wew ;T ? 2

What is World Trade Organization ?

RO FUA 9 Fed © 7 2

What is a Multinational Company ?

2109/(Set : A) P.T.O.
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qug - T
SECTION - C
(P8 &S sraia )

(Case Study Based Questions)

29. RU T @ #H &M d @ AR B T Yl & IX &Y

ARA IR Uifeea™ & dra Afeiies q9mar, Aigiod Thedar, A Meaedl 9 oiie
THETA & I NG ol Al T A ARA-Uih& e e, T, 9 AR g9 &
IR W Y T8 e g1 §| a3 1947 So, 1965 Fo, 1971 3o 3R 1999 Fo #
ARG T ABRAYT a1 IO WRA &l 4k Sl | AT ol BN iiehEe &0 WRA |
ol Sl - § TE Aahare Hl MR diedied fRar S 3@ &

(i) WRG-UhE™ & T 9 & ? 1
(ii) OIfpEa™ S WA UX fhael I STRRHOT fRaT ? 1
(i) oM S STH-HGIR § SACiHaE B HIF-T1 397 Sieaied 3 @l & 7 1

Read the text carefully and answer the following questions :

There are opportunities for historical similarity, cultural similarity,
geographical proximity and economic similarity between India and Pakistan. But
even today India-Pakistan relations have not been able to come out of the realm
of competition, tension, conflict and war. Pakistan attacked India in 1947 AD,
1965 AD, 1971 AD and 1999 AD but was defeated by the brave armies of India.
Desperate Pakistan is continuously encouraging indirect terrorism in Punjab
and Jammu-Kashmir in India.

(i) How are India-Pakistan relations ?
(i) How many times did Pakistan attack on India ?

(ii) Which country is encouraging terrorism in Punjab and Jammu-Kashmir ?

2109/(Set : A)



(11) 2109/(Set : A)
30. U T d@ A &AM § 0 AR T® T U & I QT

AT & Ted AbdiEs Aqeel & O de & - 3Hd 99 ¥ UH SR a1 wE o
ol ® X 98 919 el SOl e B T ) AEe SXeTad dihal $l ST 81 aeha
% Hawd & B & o S @ 29 e Hae $ ST & S dig &l &l §ler ST &N
Y T 26 @ A Wl FENT Y WHR FE & Fred e el & Arew § |+l e e
AT F 3 Bl I A TH A F B Th B PRRE a9 TR B AGh T He R ol
PRRE a1 GERNA H T AR UROTH W SR AT § el w a@ wwr B Jear B

T HE I A Bl

(i) ha—=T Bl AT 59 FeT T B 7 1
(i) Y TXHR B F A B 7 1
(i) FFRRE T Fres Ao H Fawm § ? 1

Read the text carefully and answer the following questions :

The sharing of power is good for a democratic system, one more thing can

be said in its favour and that thing is much deeper. Power sharing is actually
the soul of democracy. Democracy means that power should be distributed
among the people who are under this governance system and these people
should live in this manner. Therefore, a legitimate government is one in which
all groups join the governance system through their participation. Of these two
arguments, we can call one a logical argument and the other a moral argument.
The logic of rationality or prudence emphasizes beneficial outcomes while the
logic of morality emphasizes the inherent importance of the distribution of
power.

(i) What is called the soul of democracy ?
(i) What is meant by legitimate government ?

(iii) What does logical argument explain ?

2109/(Set : A) P.T.O.
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32.

(12) 2109/(Set : A)
Ru T o@ &l & @ 9@ iR 98 7T gl & I AN ¢
e ITIEh Th SR GfeT & Jo1 SR e & 48 &1 9Rd 9= &l & el
IHT Ale S | f 21 FcEe garad SR H dle ok § fred 70 SR dreldr qw
ST 21 R HASS YIS YT Bd &, o fgd SErm ¥ 9w w9 | SwWr g1 eHeRe
Haied FEaqel S A TaEh & orah SAHaH A 7§ IYAT o ol fhwg 3 weis
% A HHCRT B STUe digl W FH Bkl ol 3EH Al 50 § 60 Wi 9% UrE S Bl
qd 2018-19 # e T H WA A SURA (97%) MMM, BTG, FAlch AR
HAREUS & U g

(i) e e oo & qae g=@d T 8 o ¢ 1
(i) eeorerennn ¥ i 50 § 60 UL T AT S B 1
(iii) -] @i TS e & 0% & 7 1

Read the extract carefully and answer the following questions :

Iron ore is the basic mineral and the backbone of industrial development.
India is rich in good quality iron ores. Magnetite is the finest iron ore with a very
high content of iron up to 70 percent. It has excellent magnetic qualities,

especially valuable in the electrical industry. Hematite ore is the most important
industrial iron ore in terms of the quantity used, but has a slightly lower iron
content than magnetite (50-60 percent). In 2018-19 almost entire production of
iron ore (97%) accrued from Odisha, Chhattisgarh, Karnataka and Jharkhand.

(i) Which iron ore has the best magnetic qualities ?
(i)  ceeereeeenenes has 50-60 percent iron content.

(iii) Which mineral is the backbone of industrial development ?

Ru T o & &Fga® 96 oMK I8 Y U & Sax ST

fogg d% @ fRsg fem RO & ogaR, 30 & e &0 § ot om &
qIeve w1 YANT AT T B 3 R 2017 #F uiefdd @ US $ 12,056 Ifgad At
a9 oY B, S€ 9% a9 ol 7 39 Rl wiveafi o US $ 995 Uicay a1 369 & &,
S T ST 9t AW RN T Bl WRG A T & B ag A SN g1 Hifh I6h! HieAtrd
A 2017 & %A@ US $ 1820 wicad &t @= 30, A 788 @@ & 397 IR B 319 8l
39 e TE B, B oTHAR W faeiid IS Fer S 2l

2109/(Set : A)



33.

34.

(13) 2109/(Set : A)
(i) foea fowm RO & aR e & 6T g A9evs & eR o fhan @ ? 1
(i) 2017 % STFAR Fd I N 77 T A 3 Fel T 5 ? 1
(i) ART fFE T &1 H ofar & ? 1
Read the extract carefully and answer the following questions :

In World Development Reports, brought out by the World Bank, per capita
Income criterion is used in classifying countries. Countries with per capita
income of US $ 12,056 per annum and above in 2017, are called high income or
rich countries and those with per capita income of US $ 995 per annum or less
are called low-income countries. India comes in the category of middle income
countries because its per capita income in 2017 was just US $ 1820 per annum.
The rich countries, excluding countries of Middle East and certain other small
countries, are generally called developed countries.

(i) Which criterion is used in classifying countries according to World
Development Reports ?

(i) Which countries are called low-income countries according to 2017 ?
(ii) Which income group does India come in ?

gug - g
SECTION-D
(g ST us)

(Short Answer Type Questions)

Uied @ 9Rd | Y49 & JF AR B 9 & ? e i) 3

What were the main routes of entry into India from the West ? Explain it.

SYEIRT G ST & TR ST & < &7 T STHR H-9 & ? 3
What are the three main rights the consumer has, according to the Consumer

Protection Act ?

2109/(Set : A) P.T.O.
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35. HHY SMET TR @ J7 [9van gasg)

Mention three characteristics of federal government system.

36. R ¥ I/ & PN H €@ JoH B

Briefly describe tea cultivation in India.

gug - &
SECTION - E
(e u)
(Essay Type Questions)

37. W &I YATEih e X TheT ST
Throw light on the administrative system of Egypt.

ST
OR
AT 99Idr & HiHe U9 GrHIioTs Siias &l o i)

2109/(Set : A)
3

22 + 22

Describe the religious and social life of Mesopotamian Civilization.

38. YIS & [ Hed & ? oIS & 31 HE g & 7

What is political party called ? What work do political parties ?

YqT
OR

1+4

fasg @ G99 e SMEY HawA R TAET T § ¢ 39 oY JIel ¥ Y8a¥ T Samn

™ e ?

1+4

Which has been described as the best governance system in the World ? Why is

it said to be better than other system ?

2109/(Set : A)
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39. I RrE-fFE FHR & TgUT & foU Suwer € ? wiekey e @ Qb & i SEe
¥ g U R ST e © ¢ 2+3

What types of pollution are industries responsible for ? What measures can be
taken in industries to prevent environmental degradation ?

HAYAT

OR
EuArEe aRaed i & YA SaRy R § ugueEe aREed @ dT e S| Be-g 8 7
2+3

Mention two features of pipeline transport. What are the three major network of
pipeline transportation in India ?

T
OR
G SR 97 -
FfeAe F g I B deMel W TE B R U T W IE 9N W@ oA 5 6w
HFAR T 30 T H T | Sifees AroE F& el ol
IS AT TR @ AT BT 5

Competency Based Question :

Cabinet Ministers were discussing infrastructure plans. A Minister was
explaining why roads are generally more profitable than railway lines.

Explain his possible arguments.
qis -4
SECTION -F

(AR e SR 9s)
(Map Skill Based Questions)

40. (A) R T /Aeg H Y@ AHRA W CRE T v F B & Sue Sl 141

On the given outline map of the World show any two Colonics of England
in Asia.

2109/(Set : A) P.T.O.



(16) 2109/(Set : A)
(B) Rt T grgd @ gME W FefaRad &t g9

(i) T ER €K Y 1
(i) SRS ar 1
(i) feed sty ’

On the given outline map of India, show the following Dams :
(i) Sardar Sarovar Dam

(i) Hirakud Dam

(iii) Tehri Dam

(Fae gRedM qleniiEl & o)
(For Blind Candidates Only)
qle : [T 797 37 GheglT GOl @ [T 797 &Er 40(A) ST 40(B) & & YT &/

The following questions are only for Blind Candidates in lieu of Question No.
40(A) and 40(B).

40. (A) URMET FEEN § Fidvs & HiE & IutEe & W i 1+1=2
Write the name of two Colony of England in Asia Continent.
(B) () UER X g g Tg & & 7 1
Sardar Sarovar Dam is in which State ?
(i) SxrgE a e T F R 7 1
Hirakud Dam is in which State ?
(i) feadr ary fpm T A B ° 1

Tehri Dam is in which State ?

2109/(Set : A)
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Roll No. SET : B

G EISEREEI] MAP

SOCIAL SCIENCE

(History, Political Science, Geography and Economics)
(Academic/Open)
[ &= wd SiIoh A1 |
[ Hindi and English Medium |
(Only for Fresh/Re-appear/Improvement/Additional Candidates)
&7 : 3 72 | [ q% : 80
Time allowed : 3 hours | [ Maximum Marks : 80
o FUI AT F T [ 57 FeT-U7 4 FRa g 16 T F97 40 &)

Please make sure that the printed pages in this question paper are 16 in number
and it contains 40 questions.

o U97-YH 7 e & @ G 9 T4 IS TR 7o e GH FTI-YraH # JEI-g=T 97 [

The Code No. and Set on the right side of the question paper should be written by
the candidate on the front page of the answer-book.

o FYF J9T H TV TG J& V7§ Yeer, J9T H B AT [T
Before beginning to answer a question, its Serial Number must be written.
o FUT-YikTHE % &= H @Il §i/9 T 85

Don’t leave blank page/pages in your answer-book.

o FT-YRTHE B SIRFT HF o de Tel T o SEvIRagEr & g st frar Fav T
FI2]

Except answer-book, no extra sheet will be given. Write to the point and do not

strike the written answer.

2109/(Set : B) P.T.O.
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o TR U AT To JeT-UH T Haed [@ T To & SARFT FIT-YH G o FE A T
frd sit dmfoqs g9t @ Rl 9¥ el Jre @ 9T T g

Candidates must write their Roll No. on the question paper. Except Roll No. do not
write anything on question paper and don't make any mark on answers of objective

type questions.

o YT F97 % FT 37 @ g4 F FAkEd F A & Je7-97 [ T & 8, ThEr F ITT 59
T § #ig 4 @ whwre Tl A @

Before answering the questions, ensure that you have been supplied the correct and
complete question paper, no claim in this regard, will be entertained after
examination.

G 59T -

General Instructions :

(9

(@)

(i)

()

(v)

(vi)

(vii)

a4 go7 Sfard &

All questions are compulsory.

T JoT B TF T AT T T 8

Marks of all the questions are shown against them.

[ 797 & G GFI & TV G &I 9T G don

Attempt all parts of a question together.

1 &% a1t Je% 597 T FX R &l

Answer to each question as per instructions carrying 1 marks.

2 9% I J9% F97 [ FI¢ 30 Sl 7 3w 7T &l

Answer to each question carrying 2 marks should not exceed 30 words.

3 S7%l art He% 597 # FIT 40 & 60 =T G 9% T &l

Answer to each question carrying 3 marks should not exceed 40 to 60 words.

5 & g7 J9% §97 # 3¢ 100 @ 125 91 @ 37 7 &Y

Answer to each question carrying 5 marks should not exceed 100 to 125
words.

2109/(Set : B)



(3) 2109/(Set : B)
(viii) 797 GEIT 40(A) % [T [T T4 [9q & Iar Frfa7 ¢7 797 T&r 40(B) & [T &’y
7T T % VG A B ST FA-YRAE B G ST FA T B

You must attach the given outline map of the World for Question No. 40(A)
and outline map of India for Question No. 40(B) along with your answer
book.

(ix) PYFT T YT 77+ TAC-GReal & FH o777 [olEg

You must write your Answer Book Sr. No. on the map.

gus -4
SECTION-A
(aEgfrs a%)
(Objective Type Questions)
SglaHeg I ¢
Multiple Choice Questions :
1. T TR & TEM a9 H fhaw U sl I Bl & 7 1

A) 40% (B) 31%
(C) 52% (D) 60%

What percentage of the country's Copper is produced by the mines of Madhya

Pradesh ?
(A) 40% (B) 31%
(C) 52% (D) 60%
2. e iR el &9 fha o W fawfora B ? 1
(A) AR F 9t (B) onfi¥ie ety & w@wE
(C) =Rt & de (D) SEAl & @i

On what basis is the Public and Private sector divided ?
(A) conditions of employment

(B) nature of economic activities

(C) number of worker

(D) ownership of enterprises

2109/(Set : B) P.T.O.



(4) 2109/(Set :
3. fatmg @1 areay’ 759 Fer S ® 7

(A) % (B) €&
(C) &1 (D) 9T

What is called 'medium of exchange' ?

(A) Bank (B) Credit
(C) Currency (D) Loan
4. SIIEING SHREMT H HIF T S 7
(A) HTEDR (B) e
(C) I (D) ST Tt
Who is an informal lender ?
(A) Moneylender (B) Businessman
(C) Friend (D) All of the above

5. T 9 9 98 & g5 & ?

(A) FdE (B) Aqda

(C) WM (D) STedag
Gayatri Mantra is the Mantra of which Veda ?

(A) Rigveda (B) Yajurveda
(C) Samaveda (D) Atharvaveda

6. ‘ARMY AR AW oI T Sl WA e &l ?

(A) F=T (B) e el

(C) W el (D) e HIEY EEXehT

Who founded the secret organization called 'Abhinav Bharat' ?

(A) Krishna Verma (B) Curzon Wyllie

(C) Madan Lal (D) Vinayak Damodar Savarkar
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7. QEE FHISH 9RT HF AT 7 1
(A) 1918 (B) 1928
(C) 1930 (D) T8 q Hig 7l
When did Simon Commission came to India ?
(A) 1918 (B) 1928
(C) 1930 (D) None of these
8. FHCEHH B 3T § TXEA-17Y T Bl b oo A fqeiora feam st © ° 1
(a) @ (B) o
©) =W (D) G

From the chronological point of view, Saraswati-Sindhu Civilization is divided
into how many phases ?

(A) Two (B) Three
(C) Four (D) Five
9. 2019 ¥ WHAAN § Higel WiEal H HEA1 foher e & ? 1

(A) 20.45% (B) 18.05%
(C) 14.36% (D) 25.07%
What was the percentage of women MPs in Lok Sabha in 2019 ?
(A) 20.45% (B) 18.05%
(C) 14.36% (D) 25.07%

10. 3oy # fhee e @ ‘SF’ A Sld § ¢ 1
(A) 40% (B) 59%
(C) 74% (D) 18%
What percentage of people speak Dutch language in Belgium ?
(A) 40% (B) 59%
(C) 74% (D) 18%
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11. 979 # olRal & T Sy &) @aen & 6 © - 1

(A) pEsT §

(B) faerraer |

(C) wPFmUsd #

(D) erEl T |

Reservation has been made for women in India :
(A) In Lok Sabha

(B) In Vidhan Sabha

(C) In Cabinet

(D) In Panchayati Raj

12, G 3R eRaren & fem gfded 9 @ &t Bt & 7 1
(A) 50% (B) 80%
(C) 65% (D) 90%
What percentage of land is cultivated in Punjab and Haryana ?
(A) 50% (B) 80%
(C) 65% (D) 90%

T I A ST T

Answer in one sentence :

13. 9RA # GEH I &AA H SMEN W 3¢ b aut o ahiepd fhal T & 7 1
In how many categories are the roads classified in India on the basis of
capacity ?
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14.

15.

16.

17.

18.

19.

(7) 2109/(Set : B)
-y wwar § ofdfte dwpr @ feae fafret s of ? 1

How many methods of funeral rites were prevalent in Saraswati-Sindhu
Civilization ?

el § 5 g B Tohg o B w9 § SyuEr T B 7 1
Which religion has been adopted as the state religion in Sri Lanka ?

R &9 X

Fill in the Blanks :

A AAB B SAET D ATHT B ST BT vevverrnnnnnn. Hed Bl 1
The sum of the production of all three sectors is called the .................. of the
country.

TETHT & BN T oo oo H gl 1
Mahatma Buddha was born in ................ B.C.

................ W MR foam e 9y 999 8 & @R @ e 2 1
Division, based on .................. is seen only in Indian society.

Frfaiead g (Jo Ho 19 T 20) § -3 F&9 RU T &, AREEA (A) T BRI (R)I
ST YAl bl SYED GhY A AU U faehedt § @ faebed g

The following questions (Q. No. 19 & 20) have two statements each, Assertion
(A) and Reason (R). Read both statements carefully and choose the correct
option from given options in below.

AHIT (A) : TAOF G B A1 4 S @9 F A T A B 1
PR (R) : TAD & § el &1 Ie S aral Mararedr i 2

ey

(A)  AREET (A) R FRO (R) AMT T & AR BN (R) SABIT (A) H Tl TG 2
(B) 31 (A) SR FRO1(R) A T &, AT PRI (R) ST (A) FT Tel TRIB Tl B
(C) SIHI (A) T 8, ARBT BRT (R) 3TA &l

(D) SRR (A) ST9E 2, AfhT &R (R) 9 &
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Assertion (A) : Tertiary sector is also known as Service Sector.

Reason (R) : The tertiary sector includes activities that produce goods.

Options :

(A) Both Assertion (A) and Reason (R) are true and Reason (R) is the correct
explanation of Assertion (A).

(B) Both Assertion (A) and Reason (R) are true, but Reason (R) is not the
correct explanation of Assertion (A).

(C) Assertion (A) is true, but Reason (R) is false.
(D) Assertion (A) is false, but Reason (R) is true.

20. REHET (A) : 1992 F THAie T Faeq & GER-EX B & e ST T
ST TR 1

FROT (R) : 39 ©FY @ FHEl & JAE Faia §9 9 S a9 ST ol
faee -

(A) STHIT (A) 3T BRI (R) IHT T & IR HROT (R) STHHAT (A) F Tl LD B
(B) STRREE (A) IR &R (R) 3F T &, Qb BT (R) STRERM (A) P Tel WRIBT el ol

(C) IR (A) T &, QAfPT HRT (R) T8 B
(D) ST (A) STEA 8, QA HRU (R) T 2l

Assertion (A) : In 1992, the third-tier of democratic governance was made more
powerful and effective.

Reason (R) : Now it is a constitutional obligation to conduct regular elections of
local self governing bodies.

Options :

(A) Both Assertion (A) and Reason (R) are true and Reason (R) is the correct
explanation of Assertion (4).

(B) Both Assertion (A) and Reason (R) are true, but Reason (R) is not the
correct explanation of Assertion (A).

(C) Assertion (A) is true, but Reason (R) is false.

(D) Assertion (A) is false, but Reason (R) is true.
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21.

22.

23.

24.

25.

26.

27.

28.

(9) 2109/(Set : B)

gue -Yg
SECTION-B
(sfey @1g St )
(Very Short Answer Type Questions)
fIsa =mR d@eT |7 7 2

What is World Trade Organization ?

TG U R e B 2
What is a Multinational Company ?
TN JUI G b @ S-S & a1 # der o1 ? Yo Vot Vot Yo=2

How many and into which classes was the Medieval European society divided ?

T FA1 B & ¢ 36R Ad B TIE T FHeA & ¢ 1+1
What is a Church ? What is the head of Christianity called ?

g0 % G H FT 7Y § 7 2
What does majority rule mean ?

BT &9 fRY Fed § ¢ sRaen | afkd & 8 & SRy T+V+ 1
What are regional parties called ? Name two regional parties in Haryana.

ARA § a9 AR 99 Sfiad G0 F AEEE § 7 2
Why is forest and wildlife conservation important in India ?

aret B Tg-Sesfi afEeET &t Fer S § 2 2

Why are dams called multipurpose projects ?
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qug - T
SECTION-C
(P8 &S sraia )

(Case Study Based Questions)

29. RU T d9 H AFES 16 AR I8 T YAl & I AN

foeg d% @ fRsg fem RO & ogaR, 30 & @i &0 § e[ o &
TETE T JANT FRAT T B 3 3w B 2017 F uivef om@ US $ 12,056 Sy @
SEE ¥ 2, IW WS Ay X J 39 Rl Sidete o™ US $ 995 Hias a1 389 94 B,
S T oI atam 3N FET T B ARG HET T af B 9 § ONCr 21 Hifh ST et
™ 2017 & %A@ US $ 1820 wicad & T9= 390, FFA 788 @@ & 397 IR B 319 8l
397 M el &, B AFAR X fapid 39T HeT S g

(i) fasg e RO & gaR 2 &1 Fiwor e A9evs & Sgr W e @ ? 1
(i) 2017 % FIER 68 I H W= A drem 29 Fal T 8 7 1
(i) ARG fFE T F o 5 ? 1
Read the extract carefully and answer the following questions :

In World Development Reports, brought out by the World Bank, per capita
Income criterion is used in classifying countries. Countries with per capita
income of US $ 12,056 per annum and above in 2017, are called high income or
rich countries and those with per capita income of US $ 995 per annum or less
are called low-income countries. India comes in the category of middle income
countries because its per capita income in 2017 was just US $ 1820 per annum.

The rich countries, excluding countries of Middle East and certain other small
countries, are generally called developed countries.

(i) Which criterion is used in classifying countries according to World
Development Reports ?

(i) Which countries are called low-income countries according to 2017 ?
(iii) Which income group does India come in ?
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30. RRU T d@ A &M § 0@ X T® T U & Ia< AT
ARG AR TRpE™ & sie Qfceries TudT, Hitpiies THeddl, Sied e g onfies
THETA & I NG ol Al T A ARA-Tih& e e, T, 9 AR IE &
T W Y T8I e g1 §| i 3 1947 $o, 1965 S0, 1971 3o 3R 1999 Fo #
ARG T BRI a1 IO WRA &l 4k Sl | qXioT ol BNl UiiehEe &0 WRA |
GO X STY-HeAR § TR STiehare bl R Sieeiied fpar ST <@l 2

() YNG-URREN & =g & § ? 1
(ii) UIfRE™ S WG W fham X STERAT fhar ? 1
(i) oM S STH-HGR § SACiHaE BN HIF-T1 391 Sieaied 3 @l & 7 1

Read the text carefully and answer the following questions :

There are opportunities for historical similarity, cultural similarity,
geographical proximity and economic similarity between India and Pakistan. But
even today India-Pakistan relations have not been able to come out of the realm
of competition, tension, conflict and war. Pakistan attacked India in 1947 AD,
1965 AD, 1971 AD and 1999 AD but was defeated by the brave armies of India.
Desperate Pakistan is continuously encouraging indirect terrorism in Punjab
and Jammu-Kashmir in India.

() How are India-Pakistan relations ?
(i) How many times did Pakistan attack on India ?
(ii) Which country is encouraging terrorism in Punjab and Jammu-Kashmir ?

31. U W oW & &N § ¢ R IB T I & IO aAPW ¢
T F Jea Ahdis Faenst & o 3 § - 3% W ¥ 0@ o) | & o
TN ¢ AR I8 S Fol ARl el ol Tl B AEER] aXSTHA Alba= Hl AT 8l A=
P AAAT & BT 2 6 SN AT 3H AT FGE B SRFIT & I i Tl H arer e AR
Y T 26 B W Wl I Y WHR E o Fred e el & Arew § |+l e e
AT F 3 Bl I A TH A F B Th B PRRE a9 T B AGH T He T ol
JRIRE o THRN & & A6 IROMH W SR 3 & 6 s d% ad & qear &

ST FEed & AT B

(i) b= P ST HY FeT TR 7 1
(i) Y TXHR B F A B 7 1
(iii) IR & e Ao &l gard & ? 1
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Read the text carefully and answer the following questions :

The sharing of power is good for a democratic system, one more thing can
be said in its favour and that thing is much deeper. Power sharing is actually
the soul of democracy. Democracy means that power should be distributed
among the people who are under this governance system and these people
should live in this manner. Therefore, a legitimate government is one in which
all groups join the governance system through their participation. Of these two
arguments, we can call one a logical argument and the other a moral argument.
The logic of rationality or prudence emphasizes beneficial outcomes while the
logic of morality emphasizes the inherent importance of the distribution of
power.

() What is called the soul of democracy ?
(i) What is meant by legitimate government ?

(iii) What does logical argument explain ?

32. RRU T d@ & &M § 0@ X © T U & I AT

e T T ARG Giel & a1 AN b & 4% 81 9Ra 3= Hie & Azl
Ia dle T o ol FHeRe gad THR H dle ok & red 70 fied dreid aw@
ST 21 R HASS gEHE YT Bd &, o fagd SErm ¥ 9w Y | SwWr g1 eHeRc
qalleEs "oyl SElfs A ek & [SraH SAeemad A1 § ITFRT go o fheg 389 qieisr
% AT ACEE dH Ve Sl Al HH Rl ol IEH Qrels 50 § 60 WS G IR S ol
qi 2018-19 # e FTEH H WA A SURA (97%) MMM, BTG, FAlch AR
ARETS Y 9 gAT Il

(i) fra e oo & gddS FEH T BN © 7 1
(i) eeorerenne & Mefer 50 § 60 UGS T% GRT ST 2 1
(iii) I-aT @iWeT S faww # T & 7 1
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Read the extract carefully and answer the following questions :

Iron ore is the basic mineral and the backbone of industrial development.
India is rich in good quality iron ores. Magnetite is the finest iron ore with a very
high content of iron up to 70 percent. It has excellent magnetic qualities,
especially valuable in the electrical industry. Hematite ore is the most important
industrial iron ore in terms of the quantity used, but has a slightly lower iron
content than magnetite (50-60 percent). In 2018-19 almost entire production of
iron ore (97%) accrued from Odisha, Chhattisgarh, Karnataka and Jharkhand.

(i) Which iron ore has the best magnetic qualities ?
(i)  ceeeeeennnes has 50-60 percent iron content.
(ii) Which mineral is the backbone of industrial development ?

gug - g
SECTION-D
(g ST us)

(Short Answer Type Questions)

33. HWeHE TSAl % WRA W ABRACN & U8 7 9@ e 1 9 7 3
What were the three main objectives behind Mahmud Ghaznavi's attacks on
India ?

34. 9RA ¥ 99 & H H G o S 3

Briefly describe tea cultivation in India.

35. IUHIFT Y& AT F STTAR STAHRN H I @7 T@ AHR HF-9 & 7 3

What are the three main rights the consumer has, according to the Consumer
Protection Act ?

36. GH MG R @ 77 [QATaT gy 3

Mention three characteristics of federal government system.
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gUE - &
SECTION - E
(e 9 )
(Essay Type Questions)
37. I [HE-TFE THER & T & o IOeE § 7wl Feiner @ Qe & forg sEn
T 1 SUE f ST wRd § 7 2+3

What types of pollution are industries responsible for ? What measures can be
taken in industries to prevent environmental degradation ?
AYAT
OR
TEUARET URaed @ & v JaEe WA § uEuaEd ke & @ TE W aE-9 7
2+3

Mention two features of pipeline transport. What are the three major network of
pipeline transportation in India ?

T
OR
JIraT SITEIRT F97 -

FfeAe F= A I B deEel W TE B R U T W e 9N W@ oA 5 6w
HFAR T 30 TN H o | SAfees AroE & el ol
I HAI Tl AT T 5

Competency Based Question :

Cabinet Ministers were discussing infrastructure plans. A Minister was
explaining why roads are generally more profitable than railway lines.

Explain his possible arguments.
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38. 9 &I yTElh Faw X I ST 5
Throw light on the administrative system of Egypt.
HAYAT
OR
TG Al & GiHh T QIS Sfia Bl qor i 215 + 2V5
Describe the religious and social life of Mesopotamian Civilization.
39. IS & fh8 FBd & 7 USTi® & F1 FA B & ¢ 1+4
What is political party called ? What work do political parties ?
HAYAT
OR
ﬁraaﬁaaﬁésmamaqw%aqww%?g@mawaﬁﬁéamﬁaﬁm
™ & ! 1+4

Which has been described as the best governance system in the World ? Why is
it said to be better than other system ?

e -
SECTION-F
(AR Pie SR 9s)
(Map Skill Based Questions)

40. (A) Ru T AByg 3 Y@ AFRE W ORE # Sdve & B § SuiNaw s 1+1
On the given outline map of the World show any two Colonics of England
in Asia.

(B) RuU T grvg & Y@ qFrE W efiRad sty &9id
() ERER TUax S 1
(i) SRS a 1
(i) fesd are 1
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On the given outline map of India, show the following Dams :
(i) Sardar Sarovar Dam

(i) Hirakud Dam

(iii) Tehri Dam

(P ghede ThenRid 3 R
(For Blind Candidates Only)
qle : [T 797 37 GheglT GOl @ [T 797 &Er 40(A) ST 40(B) & & GT &/

The following questions are only for Blind Candidates in lieu of Question No.
40(A) and 40(B).

40. (A) URME qEEY ¥ gvE $ Pz & SuiEeT @ W ffew 1+41=2

Write the name of two Colony of England in Asia Continent.

(B) () UER X g g Tg & & 7 1
Sardar Sarovar Dam is in which State ?
(i) &R at e T F R 7 1
Hirakud Dam is in which State ?
(iti) feedt sty fobm T & B 7 1

Tehri Dam is in which State ?
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o FUI AT F T [ 57 FeT-U7 4 FRa g 16 T F97 40 &)

Please make sure that the printed pages in this question paper are 16 in number
and it contains 40 questions.

o U97-YH 7 e & @ G 9 T4 IS TR 7o e GH FTI-YraH # JEI-g=T 97 [

The Code No. and Set on the right side of the question paper should be written by
the candidate on the front page of the answer-book.

o FYF J9T H TV TG J& V7§ Yeer, J9T H B AT [T
Before beginning to answer a question, its Serial Number must be written.
o FUT-YikTHE % &= H @Il §i/9 T 85

Don’t leave blank page/pages in your answer-book.

o FT-YRTHE B SIRFT HF o de Tel T o SEvIRagEr & g st frar Fav T
FI2]

Except answer-book, no extra sheet will be given. Write to the point and do not

strike the written answer.
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o TR U AT To JeT-UH T Haed [@ T To & SARFT FIT-YH G o FE A T
frd sit dmfoqs g9t @ Rl 9¥ el Jre @ 9T T g

Candidates must write their Roll No. on the question paper. Except Roll No. do not
write anything on question paper and don't make any mark on answers of objective

type questions.

o YT F97 % FT 37 @ g4 F FAkEd F A & Je7-97 [ T & 8, ThEr F ITT 59
T § #ig 4 @ whwre Tl A @

Before answering the questions, ensure that you have been supplied the correct and
complete question paper, no claim in this regard, will be entertained after
examination.

G 59T -

General Instructions :

(9

(@)

(i)

()

(v)

(vi)

(vii)

a4 go7 Sfard &

All questions are compulsory.

T JoT B TF T AT T T 8

Marks of all the questions are shown against them.

[ 797 & G GFI & TV G &I 9T G don

Attempt all parts of a question together.

1 &% a1t Je% 597 T FX R &l

Answer to each question as per instructions carrying 1 marks.

2 9% I J9% F97 [ FI¢ 30 Sl 7 3w 7T &l

Answer to each question carrying 2 marks should not exceed 30 words.

3 S7%l art He% 597 # FIT 40 & 60 =T G 9% T &l

Answer to each question carrying 3 marks should not exceed 40 to 60 words.

5 & g7 J9% §97 # 3¢ 100 @ 125 91 @ 37 7 &Y

Answer to each question carrying 5 marks should not exceed 100 to 125
words.
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(viii) 797 GEIT 40(A) % [T [T T4 [9q & Iar Frfa7 ¢7 797 T&r 40(B) & [T &’y
7T T % VG A B ST FA-YRAE B G ST FA T B

You must attach the given outline map of the World for Question No. 40(A)
and outline map of India for Question No. 40(B) along with your answer
book.

(ix) PYFT T YT 77+ TAC-GReal & FH o777 [olEg

You must write your Answer Book Sr. No. on the map.

qgus -9
SECTION-A
(g )
(Objective Type Questions)
SEECISIRIES I
Multiple Choice Questions :
1. R & ARal & oY STRET &l o H { © ¢ 1

(A) hepasT | B) fauweem §
(C) wPmUed A (D) YemEl e §

Reservation has been made for women in India :
(A) In Lok Sabha

(B) In Vidhan Sabha

(C) In Cabinet

(D) In Panchayati Raj

2. U AR eRFen  Rem gfied g W S Bl & 7 1
(A) 50% (B) 80%
(C) 65% (D) 90%
What percentage of land is cultivated in Punjab and Haryana ?
(A) 50% (B) 80%
(C) 65% (D) 90%
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3. A MR H GEH 3F P e A9 diE I B 8 7 1
(A) 40% B) 31%
(C) 52% (D) 60%
What percentage of the country's Copper is produced by the mines of Madhya
Pradesh ?
(A) 40% B) 31%
(C) 52% (D) 60%
4. TEH AR T & fFe omaR W i § 7 1
(A) AR F 9t
(B) oM wiaffy & e
(C) <ftept @l dem
(D) o % @id

On what basis is the Public and Private sector divided ?
(A) conditions of employment

(B) nature of economic activities

(C) number of worker

(D) ownership of enterprises

5. ‘T & " 58 e o e ¢ 1
A) o (B) 9@
(© (D) o
What is called 'medium of exchange' ?
(A) Bank (B) Credit
(C) Currency (D) Loan
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6. IR JUREMT § HF A & ? 1
(A) TTEER (B) &
C) I (D) I T
Who is an informal lender ?
(A) Moneylender (B) Businessman
(C) Friend (D) All of the above
7. T A 6 aE B oA § 7 1
(A) T (B) AP
(C) wWag (D) STYEAT
Gayatri Mantra is the Mantra of which Veda ?
(A) Rigveda (B) Yajurveda
(C) Samaveda (D) Atharvaveda
8. ‘HRMY AR A T« T %l WA fohe &l ? 1
(a) o
(B) e sl
(C) H&d o

(D) feFTTEeh aTHIEY FEhT

Who founded the secret organization called 'Abhinav Bharat' ?
(A) Krishna Verma

(B) Curzon Wyllie

(C) Madan Lal

(D) Vinayak Damodar Savarkar
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9. WEHY FHISH WRA HF AT ? 1

(A) 1918 (B) 1928
(C) 1930 (D) T8 q Hig 7l
When did Simon Commission came to India ?
(A) 1918 (B) 1928
(C) 1930 (D) None of these

10. PTHA B gie § TXEI-g TR &l s =xon & fasiord e S & 2 1
(a) @ (B) o
©) =W (D) G

From the chronological point of view, Saraswati-Sindhu Civilization is divided
into how many phases ?

(A) Two (B) Three
(C) Four (D) Five
11. 2019 § wehawl 7 Al Hidal Sl dedr fohad Hiaerd o ? 1
(A) 20.45% (B) 18.05%
(C) 14.36% (D) 25.07%
What was the percentage of women MPs in Lok Sabha in 2019 ?
(A) 20.45% (B) 18.05%
(C) 14.36% (D) 25.07%
12. Afcorm 7 fhe Sfded @ ‘Se Ao dd § ¢ 1
(A) 40% B) 59%
(C) 74% (D) 18%
What percentage of people speak Dutch language in Belgium ?
(A) 40% B) 59%
C) 74% (D) 18%
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T I H IO i

Answer in one sentence :

13. i § fhg o & ToHg 86 & ®Y § U ™ 8 7 1
Which religion has been adopted as the state religion in Sri Lanka ?

14. R § GEH I &AA $ SMEN W 3¢ b aut o aehiepd fhal T & 7 1
In how many categories are the roads classified in India on the basis of
capacity ?

15. TXE-foeyg qvar & ofdfte g @ fha faftet st o 2 1

How many methods of funeral rites were prevalent in Saraswati-Sindhu

Civilization ?

Red & WX
Fill in the Blanks :

16, evveereeeennnn W AR o % Rdg o e 7 21 38 &1 e 3 1
Division, based on .................. is seen only in Indian society.

17. T &5kl & IR & AH Bl O BT covvvnreennns P ol 1
The sum of the production of all three sectors is called the .................. of the
country.

18. WEIHT & B T cooonnninneeee. oo H BT 1
Mahatma Buddha was born in ................ B.C
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freifafad gt (Mo Ho 19 wd 20) ¥ -3 Fo Ru T &, i@ (A) W@ SRI (R)!
Al BN H AFYEH TR A9 QU ¢ famedt § § @@ feed g
The following questions (Q. No. 19 & 20) have two statements each, Assertion

(A) and Reason (R). Read both statements carefully and choose the correct
option from given options in below.

19. RFEEE (A) : 1992 F TFAie M Faeql & GER-WR B SRl qfeaene SR g
ST TR 1

FROT (R) : 39 ©IFY @ Farl & e Faia §9 9 S a9 STeEd ol
ey

(A) SIHI (A) 3T BRI (R) IHT T & IR HROT (R) STHHAT (A) F Tl LD B
(B) STRREE (A) IR &R (R) 3F T &, Qb BT (R) STRERM (A) P Tel WRIBT el ol
(C) IR (A) T &, QAfPT BRI (R) T8 2

(D) AR (A) ST B, ARBT BRI (R) T B

Assertion (A) : In 1992, the third-tier of democratic governance was made more

powerful and effective.

Reason (R) : Now it is a constitutional obligation to conduct regular elections of

local self governing bodies.
Options :
(A) Both Assertion (A) and Reason (R) are true and Reason (R) is the correct

explanation of Assertion (A).

(B) Both Assertion (A) and Reason (R) are true, but Reason (R) is not the

correct explanation of Assertion (A).
(C) Assertion (A) is true, but Reason (R) is false.

(D) Assertion (A) is false, but Reason (R) is true.
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20. IARHUA (A) : JIIE AF B qaT & B &Y F A T A B 1
PR (R) : T & § el &1 JE H¢ aral Marear i 2
fereneq
(A)  AREET (A) R FROT (R) AMT T & AR BN (R) SAHBIT (A) H Tl TRIB 2
(B) 31HI (A) SR FRO1(R) A1 T &, Qb BT (R) ST (A) HT Tel WLIB Tl 2l
(C) ST (A) | &, AfFT BROT (R) T8 &
(D) AR (A) STET B, ARBT BRI (R) T B
Assertion (A) : Tertiary sector is also known as Service Sector.
Reason (R) : The tertiary sector includes activities that produce goods.
Options :

(A) Both Assertion (A) and Reason (R) are true and Reason (R) is the correct
explanation of Assertion (A).

(B) Both Assertion (A) and Reason (R) are true, but Reason (R) is not the
correct explanation of Assertion (A).

(C) Assertion (A) is true, but Reason (R) is false.
(D) Assertion (A) is false, but Reason (R) is true.

g - g
SECTION-B
(sf g ST ue)
(Very Short Answer Type Questions)

21. 9RA § &9 olR 79 Siied H0T Ff AETH © 7 2
Why is forest and wildlife conservation important in India ?

22. S B qg-Ieha TRAHT FF a1 ST B 7 2

Why are dams called multipurpose projects ?

23. f4%@ R T 4 8 ? 2
What is World Trade Organization ?

24. TZUSEH HUA fBE Fad o 7 2

What is a Multinational Company ?
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25.

26.

27.

28.

29.

(10) 2109/(Set : C)
TN JUU GH fha @ S-S & a1 # der o1 ? Yo Vot Vot Yo=2

How many and into which classes was the Medieval European society divided ?

T T BT © ? 3R TG H TG T HeAw o 7 141
What is a Church ? What is the head of Christianity called ?

T S A B A 7Y B P 2

What does majority rule mean ?

819 g 69 Fed & ? =R & afky @ &g g sasu 14+ %+

What are regional parties called ? Name two regional parties in Haryana.
gug -
SECTION-C

(@9 =2 omaRa 9w)
(Case Study Based Questions)

Ru T o@ & & 4 9@ iR 9® 7T gl & I AR ¢

e T T ARG Giel & a1 AN b & 4% 81 9Ra 3= Hie & Al
Ia dle FE o ol FHeRe gaW TR H dle ok § red 70 dfied dreid aw
ST 21 R HASS gEHE YT Bd &, o fgd SErm ¥ 9w w9 § SwWr g1 eHeRe
Haifes Hew@qel AR Ale oTaE © foras Stfima ARm § IUERT gaT &1 fheg 39d e
% WA AR B oTden Aigl W oHH Al Bl 36| e 50 @ 60 Wi 9% UrE S Bl
q¥ 2018-19 H e T H T GHE IARA (97%) M, NG, FAleh AR
HAREUS & U g3

() e e oo | qad g=@d T e o ¢ 1
() eeeerrrinnns T eieT 50 | 60 AT % U S ol 1
(iii) PH-|1 @i TERs e H i § ? 1
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Read the extract carefully and answer the following questions :

Iron ore is the basic mineral and the backbone of industrial development.
India is rich in good quality iron ores. Magnetite is the finest iron ore with a very
high content of iron up to 70 percent. It has excellent magnetic qualities,
especially valuable in the electrical industry. Hematite ore is the most important
industrial iron ore in terms of the quantity used, but has a slightly lower iron
content than magnetite (50-60 percent). In 2018-19 almost entire production of
iron ore (97%) accrued from Odisha, Chhattisgarh, Karnataka and Jharkhand.

(i) Which iron ore has the best magnetic qualities ?
(i)  cevereneenenes has 50-60 percent iron content.
(iii) Which mineral is the backbone of industrial development ?

30. RU T d@ A ANGEH ¢ AR I8 T UAl & IOX &Y ¢
foeg d% @ fsg fem ROE & ogaR, 30 & e &0 § el o &
HUEUS B YANT R T Bl 3 q9r R 2017 F ufvefE o US $ 12,056 uiead A
a9 o B, S€ 9% a9 ol I 391 el wiveafm o US $ 995 Uicay a1 369 & &,
S 7 ST are 391 8T 1 81 ARG 7 ST a9 & a0 H STl ol b Iaeb! Ficretrd
™ 2017 & %A@ US $ 1820 wfcad &l T9= 30, A 788 @@ & 397 3R B 319 8l
3T o 8 ¥, B AR ORI 39T el S ol

(i) fea o RO & Fgar 29 & 6T g A9evs & eR o fhar @ ? 1
(i) 2017 % STFAR FH I P 77 T A 3 Fel T 5 ? 1
(iii) 9RG 9 Mg o1 § ofar ® 7 1
Read the extract carefully and answer the following questions :

In World Development Reports, brought out by the World Bank, per capita
Income criterion is used in classifying countries. Countries with per capita
income of US $ 12,056 per annum and above in 2017, are called high income or
rich countries and those with per capita income of US $ 995 per annum or less
are called low-income countries. India comes in the category of middle income
countries because its per capita income in 2017 was just US $ 1820 per annum.
The rich countries, excluding countries of Middle East and certain other small
countries, are generally called developed countries.

(i) Which criterion is used in classifying countries according to World

Development Reports ?

(i) Which countries are called low-income countries according to 2017 ?
(ii) Which income group does India come in ?
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31.

32.

(12) 2109/(Set : C)
Ru T o@ &l & 4 9@ iR I8 T g & I AN ¢
ARG AR qRpEa™ & sie Qfceriers T9HdT, Hitpias THeddl, Sied e g ot
THETA & I NG ol Al T A ARA-Tih& e e, T, 9 AR I &
IR W Y T8 e g1 §| a3 1947 $o, 1965 Fo, 1971 3o 3R 1999 Fo #
ARG W HABRAYT AT IO WRA &l 4k el | XIS ol BN iiehEde &0 WRA |
ol ol - § TE ahare ®l MR diediied fRar S 3@ &

() RG-URREN & = 3y § ? 1
(ii) UIREA™ S WRG X fohaeil X STERHOT fohaT ? 1
(i) oM S STH-HGIR § SAciHaE B HIF-T1 391 Sieaied 3 @l & 7 1

Read the text carefully and answer the following questions :

There are opportunities for historical similarity, cultural similarity,
geographical proximity and economic similarity between India and Pakistan. But
even today India-Pakistan relations have not been able to come out of the realm
of competition, tension, conflict and war. Pakistan attacked India in 1947 AD,
1965 AD, 1971 AD and 1999 AD but was defeated by the brave armies of India.
Desperate Pakistan is continuously encouraging indirect terrorism in Punjab
and Jammu-Kashmir in India.

() How are India-Pakistan relations ?
(i) How many times did Pakistan attack on India ?
(ii) Which country is encouraging terrorism in Punjab and Jammu-Kashmir ?

Ru T o@ &l &1 4 9@ R 98 T gl & I AR ¢

Tl H SeaRl AbdiEe Zaens & [ 3% & - 369 9 § U o} S e o
Tl & X 98 91 Hel 9l T B O b AEER ST Aiha Bl ST 81 b
H e 2 Bl & & S N 39 Qe Ol $ A & S &lF Gl Hl Sl ST )
I AT S B § B I Y THR G ¢ PrEH AU qEer & Aew el wE e
AT F 3 Bl I A TH A W B Th B PRRE a9 T B D T He R ol
JRIRE o THRN & & AHHT IROMH W SR 3 & 6 s d% ad & qear &

T HE I A gl

(i) b= P ST FHY FeT TR 7 1
(i) Y TXHR B F A B 7 1
(iii) IR & e Ao &l gard & ? 1
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Read the text carefully and answer the following questions :

The sharing of power is good for a democratic system, one more thing can
be said in its favour and that thing is much deeper. Power sharing is actually
the soul of democracy. Democracy means that power should be distributed
among the people who are under this governance system and these people
should live in this manner. Therefore, a legitimate government is one in which
all groups join the governance system through their participation. Of these two
arguments, we can call one a logical argument and the other a moral argument.
The logic of rationality or prudence emphasizes beneficial outcomes while the
logic of morality emphasizes the inherent importance of the distribution of
power.

() What is called the soul of democracy ?
(i) What is meant by legitimate government ?

(iii) What does logical argument explain ?

qug - g
SECTION -D
(wg S )
(Short Answer Type Questions)

33. faesll Rl & ARG T U 7 debiei JHE Samsy 3

Mention three immediate effects of foreign invasions on India.

34. THg T T FH A7 AV TRy 3

Mention three characteristics of federal government system.

35. 9T # 99 H P P GG IO B 3

Briefly describe tea cultivation in India.
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36.

37.

38.

(14) 2109/(Set : C)
SUHIHRT Y& AT & FIAR ITHEA B A< 77 @ ARHR B4 & ? 3
What are the three main rights the consumer has, according to the Consumer
Protection Act ?

gus -
SECTION - E

(e )
(Essay Type Questions)

T & e ®ed & ? TS & F 1 Bl B § 7 1+4
What is political party called ? What work do political parties ?

AYAT

OR

fasg & G99 e SMEY HIwA R AT T § ¢ 30 oY ISl ¥ Y8a¥ i Sarn
TR ? 144

Which has been described as the best governance system in the World ? Why is
it said to be better than other system ?

ST e TR & ST & fog Saverl B ? el T i Ak & g SEnt
§ a1 U R ST Ehd © ° 2+3

What types of pollution are industries responsible for ? What measures can be
taken in industries to prevent environmental degradation ?

AYAT

OR
TR U & & fadvan ARt 9RA § IRYesd WRaed & @7 59 | HH-9 § 7

2+3

Mention two features of pipeline transport. What are the three major network of
pipeline transportation in India ?
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T TEIRT F97 -

Ffeme F= gl S B Aol W oTE R R N U W e e W oo ass
HFAR T 30 T H T | Sifees AroE F& Bl ol
I HAI Tl B AT B 5

Competency Based Question :

Cabinet Ministers were discussing infrastructure plans. A Minister was
explaining why roads are generally more profitable than railway lines.

Explain his possible arguments.

39. Y Fl JUENE FAET ) JRI S 5
Throw light on the administrative system of Egypt.

AYAT

OR
AQIISIHET §=IA1 & €1 T QA0 Sitae B o Hio 2V + 25
Describe the religious and social life of Mesopotamian Civilization.

gles -4
SECTION - F
(AT g SR 999)
(Map Skill Based Questions)

40. (A) Ru T Avg 3 Y@ AFRE W ORE # Qv & BT § IuMAT a9 141

On the given outline map of the World show any two Colonics of England
in Asia.
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(B) Rt T grgd @ gME W FefaRad &t g9

(i) T ER €K Y 1
(i) SRS ar 1
(i) feed sty ’

On the given outline map of India, show the following Dams :
(i) Sardar Sarovar Dam

(i) Hirakud Dam

(iii) Tehri Dam

(Fae gRedM qleniiEl & o)
(For Blind Candidates Only)
qle : [T 797 37 GheglT GOl @ [T 797 &Er 40(A) ST 40(B) & & YT &/

The following questions are only for Blind Candidates in lieu of Question No.
40(A) and 40(B).

40. (A) URMET FEEN § Fidvs & HiE & IutEe & W i 1+1=2
Write the name of two Colony of England in Asia Continent.
(B) () UER X g g Tg & & 7 1
Sardar Sarovar Dam is in which State ?
(i) SxrgE a e T F R 7 1
Hirakud Dam is in which State ?
(i) feadr ary fpm T A B ° 1

Tehri Dam is in which State ?
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o FUI AT F T [ 57 FeT-U7 4 FRa g 16 T F97 40 &)

Please make sure that the printed pages in this question paper are 16 in number
and it contains 40 questions.

o U97-YH 7 e & @ G 9 T4 IS TR 7o e GH FTI-YraH # JEI-g=T 97 [

The Code No. and Set on the right side of the question paper should be written by
the candidate on the front page of the answer-book.

o FYF J9T H TV TG J& V7§ Yeer, J9T H B AT [T
Before beginning to answer a question, its Serial Number must be written.
o FUT-YikTHE % &= H @Il §i/9 T 85

Don’t leave blank page/pages in your answer-book.

o FT-YRTHE B SIRFT HF o de Tel T o SEvIRagEr & g st frar Fav T
FI2]

Except answer-book, no extra sheet will be given. Write to the point and do not

strike the written answer.
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o TR U AT To JeT-UH T Haed [@ T To & SARFT FIT-YH G o FE A T
frd sit dmfoqs g9t @ Rl 9¥ el Jre @ 9T T g

Candidates must write their Roll No. on the question paper. Except Roll No. do not
write anything on question paper and don't make any mark on answers of objective

type questions.

o YT F97 % FT 37 @ g4 F FAkEd F A & Je7-97 [ T & 8, ThEr F ITT 59
T § #ig 4 @ whwre Tl A @

Before answering the questions, ensure that you have been supplied the correct and
complete question paper, no claim in this regard, will be entertained after
examination.

G 59T -

General Instructions :

(9

(@)

(i)

()

(v)

(vi)

(vii)

a4 go7 Sfard &

All questions are compulsory.

T JoT B TF T AT T T 8

Marks of all the questions are shown against them.

[ 797 & G GFI & TV G &I 9T G don

Attempt all parts of a question together.

1 &% a1t Je% 597 T FX R &l

Answer to each question as per instructions carrying 1 marks.

2 9% I J9% F97 [ FI¢ 30 Sl 7 3w 7T &l

Answer to each question carrying 2 marks should not exceed 30 words.

3 S7%l art He% 597 # FIT 40 & 60 =T G 9% T &l

Answer to each question carrying 3 marks should not exceed 40 to 60 words.

5 & g7 J9% §97 # 3¢ 100 @ 125 91 @ 37 7 &Y

Answer to each question carrying 5 marks should not exceed 100 to 125
words.
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(viii) 797 GEIT 40(A) % [T [T T4 [9q & Iar Frfa7 ¢7 797 T&r 40(B) & [T &’y
7T T % VG A B ST FA-YRAE B G ST FA T B

You must attach the given outline map of the World for Question No. 40(A)
and outline map of India for Question No. 40(B) along with your answer
book.

(ix) PYFT T YT 77+ TAC-GReal & FH o777 [olEg

You must write your Answer Book Sr. No. on the map.

gus -4
SECTION-A
(aEgfrs a%)
(Objective Type Questions)
SglaHeg I ¢
Multiple Choice Questions :
1. 2019 H Wbl | Al qigal b e e fderd o ? 1

(A) 20.45% (B) 18.05%
(C) 14.36% (D) 25.07%

What was the percentage of women MPs in Lok Sabha in 2019 ?

(A) 20.45%

(B) 18.05%

(C) 14.36%

(D) 25.07%

2. afcord H Reew e @ ‘S= WIS Sid § 7 1

(A) 40% B) 59%

(C) 74% (D) 18%

What percentage of people speak Dutch language in Belgium ?

(A) 40% B) 59%

(C) 74% (D) 18%
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3. 9RT & SR & T SARET H e A TR © 1
(A)  paer § B) e &
(C) wfmusd & (D) Yamdl U |
Reservation has been made for women in India :
(A) In Lok Sabha (B) In Vidhan Sabha
(C) In Cabinet (D) In Panchayati Raj
4. U AR eRFen H Rem gfied g W SR Bl & 7 1
(A) 50% (B) 80%
(C) 65% (D) 90%
What percentage of land is cultivated in Punjab and Haryana ?
(A) 50% (B) 80%
(C) 65% (D) 90%
5. W YaST % @AM 9T I o Hfew e S B o 7 1
(A) 40% B) 31%
(C) 52% (D) 60%
What percentage of the country's Copper is produced by the mines of Madhya
Pradesh ?
(A) 40% B) 31%
(C) 52% (D) 60%
6. TETH AR Fell & fhe R W i § 7 1
(A) ASFIX FI gt (B) onfi¥ie Tafafyr & w@wE
(C) <ftept @l dem (D) ST & w@iHe
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On what basis is the Public and Private sector divided ?

(A) conditions of employment

(B) nature of economic activities

(C) number of worker

(D) ownership of enterprises

7. ‘Rfrm & a8 %R S e 1
(A) B (B) ®@
(C) H= (D) ®9
What is called 'medium of exchange' ?
(A) Bank (B) Credit
(C) Currency (D) Loan
8. IIUEING SHREMT H HIF ST o ? 1
(A) HEHT (B) e
(C) = (D) ST @
Who is an informal lender ?
(A) Moneylender (B) Businessman
(C) Friend (D) All of the above
9. M A g dT B A & 7 1
(A) IR (B) aqdq
(C) wMaT (D) e
Gayatri Mantra is the Mantra of which Veda ?
(A) Rigveda (B) Yajurveda
(C) Samaveda (D) Atharvaveda
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11.

12.

13.

(6) 2109/(Set : D)

‘ARG A b [ G I WO e & 7 1
(A) =T (B) e arel

(C) Was a (D) [ 9% IR HEwH

Who founded the secret organization called 'Abhinav Bharat' ?

(A) Krishna Verma (B) Curzon Wyllie

(C) Madan Lal (D) Vinayak Damodar Savarkar

HEAT HHIA A e AT 7 1
(A) 1918 (B) 1928

(C) 1930 (D) T8 | Fi3 7l

When did Simon Commission came to India ?

(A) 1918 (B) 1928

(C) 1930 (D) None of these

PR I ge § TEEAN-107g G¥I &l o axen § it feam s 8 7 1
(&) @ B) &=

(©) =X (D) dr=

From the chronological point of view, Saraswati-Sindhu Civilization is divided
into how many phases ?

(A) Two (B) Three
(C) Four (D) Five

TF a9 § SO & ¢

Answer in one sentence :

ARA § qSH B &I B SER W 3¢ b awit o aiiggd {6l T & 7 1

In how many categories are the roads classified in India on the basis of
capacity ?
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14.

15.

16.

17.

18.

19.

(7) 2109/(Set : D)
TNy awa § sfcdfte @R @ fea fafer s of ? 1
How many methods of funeral rites were prevalent in Saraswati-Sindhu
Civilization ?

ficien & 5 o B T o1 F ©Y F SUEET T © 7 1
Which religion has been adopted as the state religion in Sri Lanka ?

e @M )

Fill in the Blanks :

Al &bl & IUET B AT Bl O & oo Fd ol 1
The sum of the production of all three sectors is called the .................. of the
country.

TETHT & BN T oo oo H gal 1
Mahatma Buddha was born in ................ B.C.

................ T AR foe R wRad 9 § € 3em ® e 2 1
Division, based on .................. is seen only in Indian society.

Frfaiead g (Jo Ho 19 T 20) § -3 F&9 RU T &, AREEA (A) T BRI (R)I
ST YAl bl SYED GhY A AU U faehedt § @ faebed g

The following questions (Q. No. 19 & 20) have two statements each, Assertion
(A) and Reason (R). Read both statements carefully and choose the correct
option from given options in below.

AHIT (A) : TAOF G B A1 4 S @9 F A T A B 1
PR (R) : TAD & § el &1 Ie S aral Mararedr i 2

ey

(A)  AREET (A) R FRO (R) AMT T & AR BN (R) SABIT (A) H Tl TG 2
(B) 31 (A) SR FRO1(R) A T &, AT PRI (R) ST (A) FT Tel TRIB Tl B
(C) SIHI (A) T 8, ARBT BRT (R) 3TA &l

(D) SRR (A) ST9E 2, AfhT &R (R) 9 &
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Assertion (A) : Tertiary sector is also known as Service Sector.

Reason (R) : The tertiary sector includes activities that produce goods.

Options :

(A) Both Assertion (A) and Reason (R) are true and Reason (R) is the correct
explanation of Assertion (A).

(B) Both Assertion (A) and Reason (R) are true, but Reason (R) is not the
correct explanation of Assertion (A).

(C) Assertion (A) is true, but Reason (R) is false.
(D) Assertion (A) is false, but Reason (R) is true.

20. REHET (A) : 1992 F THAie T Faeq & GER-EX B & e ST T
ST TR 1

FROT (R) : 39 ©FY @ FHEl & JAE Faia §9 9 S a9 ST ol
faee -

(A) STHIT (A) 3T BRI (R) IHT T & IR HROT (R) STHHAT (A) F Tl LD B
(B) STRREE (A) IR &R (R) 3F T &, Qb BT (R) STRERM (A) P Tel WRIBT el ol

(C) IR (A) T &, QAfPT HRT (R) T8 B
(D) ST (A) STEA 8, Qe HRU (R) T 2l

Assertion (A) : In 1992, the third-tier of democratic governance was made more
powerful and effective.

Reason (R) : Now it is a constitutional obligation to conduct regular elections of
local self governing bodies.

Options :
(A) Both Assertion (A) and Reason (R) are true and Reason (R) is the correct
explanation of Assertion (A).

(B) Both Assertion (A) and Reason (R) are true, but Reason (R) is not the
correct explanation of Assertion (A).

(C) Assertion (A) is true, but Reason (R) is false.

(D) Assertion (A) is false, but Reason (R) is true.
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22.

23.

24.

25.

26.

27.

28.

(9) 2109/(Set : D)

gue -Yg
SECTION-B
(sfey @1g St )
(Very Short Answer Type Questions)
T S A B A 7Y B P 2

What does majority rule mean ?

&g & 69 Fed & ? =Ramen & afky @ &g g sasu 14+ %+

What are regional parties called ? Name two regional parties in Haryana.

qRd & a9 X 9 Siigd G F Saeds 2 7 2

Why is forest and wildlife conservation important in India ?

aret B ag-Seefi oA &t Fer S & 7 2
Why are dams called multipurpose projects ?

fisg SR Hed @ B 7 2
What is World Trade Organization ?

RO FUA 9 Fed © 7 2
What is a Multinational Company ?

TN JUU G b @ S-S & a1 # der o1 ? You Vot Vor Vo=2
How many and into which classes was the Medieval European society divided ?
T F1 BN & ¢ 36R Fd B TIE T FHeA & ¢ 1+1

What is a Church ? What is the head of Christianity called ?
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gus -
SECTION-C
(@9 =2 omia 9w)
(Case Study Based Questions)

29. U T d@ H &AM § 0@ AR T T UM & I AT
T F Jea Apdis Faens & o 3 § - 3% W ¥ 0% oIR | & o
TN ¢ AR I8 S Fel ARl el ol T B AEER aXSTHA AlBa= Bl AT 8l A=
P AAAT & BT 2 6 SN AT 3H AT FGE B SRFIT & I A Tl H arer e AR
I AT S B § B I Y THR G & FraH A AEer & Arew § el e e
AT F 3 Bl I A TH A A B Th B PRRH a9 TR B D T He R ol
PRRE a1 GERNA H T AR UROTH W SR AT B el w I ww B Jear B

ST Fed H AT B

(i) b= P ST HY FeT TR 7 1
(i) Y TLHR B F A B 7 1
(i) RN & e Ao & Jard © ? 1

Read the text carefully and answer the following questions :

The sharing of power is good for a democratic system, one more thing can
be said in its favour and that thing is much deeper. Power sharing is actually
the soul of democracy. Democracy means that power should be distributed
among the people who are under this governance system and these people
should live in this manner. Therefore, a legitimate government is one in which
all groups join the governance system through their participation. Of these two
arguments, we can call one a logical argument and the other a moral argument.
The logic of rationality or prudence emphasizes beneficial outcomes while the
logic of morality emphasizes the inherent importance of the distribution of
power.

(i) What is called the soul of democracy ?
(i) What is meant by legitimate government ?
(ii) What does logical argument explain ?
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30. U W oW H @AM § ¢ AR YV T U $ IO &APW :

e ITIEh Th SR GfeT & Jo1 SR e & 48 &1 9Rd S= &l & el

IH AllE IR H Gl ol HHCEe HaiH YHR H e €k & NreH 70 SRSk dreier @

ST 21 R HASS gEHE YT Bd &, o fgd SErm ¥ 9w w9 § SwWr g1 eHeRc

Hie® FEEqel A A TIEh & orah SAhaH JE 7§ IYAT o ol fhwg 3wl

% AT ACEE H SUET Sl Al HH Rl ol IEH Al 50 § 60 WS G IR S ol

qf 2018-19 # e IEH F AT THK SURA (97%) S, BTG, FAled AR
ARETS Y g gAT Il

(i) fra e oo ¥ gdSS FEH T B © 7 1
() eeeerrrrnnns T eieT 50 | 60 JANd % U S ol 1
(iii) I-TT @i S faww # T & 7 1

Read the extract carefully and answer the following questions :

Iron ore is the basic mineral and the backbone of industrial development.
India is rich in good quality iron ores. Magnetite is the finest iron ore with a very
high content of iron up to 70 percent. It has excellent magnetic qualities,
especially valuable in the electrical industry. Hematite ore is the most important

industrial iron ore in terms of the quantity used, but has a slightly lower iron
content than magnetite (50-60 percent). In 2018-19 almost entire production of
iron ore (97%) accrued from Odisha, Chhattisgarh, Karnataka and Jharkhand.

(i) Which iron ore has the best magnetic qualities ?
(i)  ceeereeeenenes has 50-60 percent iron content.
(ii) Which mineral is the backbone of industrial development ?

31. RU T d@ & ANES ¢ AR I8 T UAl & IOX &g
foeg d% @& fsg fem ROE & AR, 30 & e &0 § ot o &
WUETE H ST R T 2 3 3w P 2017 § wfvef o US $ 12,056 uiEd A
IEY oY B, S8 9w 39 ol 7 39 o wiveafi o US $ 995 Uiy a1 IEd #A g,
S (1T o are 39 FET TN §1 ARG A T M & a9 H ST &1 i SHb iR
&g 2017 ¥ Faw US $ 1820 uftay & q9= asl, S wed @ & 29 ol B o 8
3 o E ¥, @ oTHaR W faeie 39T Rl S g
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(i) fasg e RO & gaR 2 &1 Fi6or e A9evs & ogr W e @ ? 1
(i) 2017 & AR fhd 3T & 71 T e 27 a7 T 8 7 1
(iii) WRT fp omg @t ¥ omar ® 7 1
Read the extract carefully and answer the following questions :

In World Development Reports, brought out by the World Bank, per capita
Income criterion is used in classifying countries. Countries with per capita
income of US $ 12,056 per annum and above in 2017, are called high income or
rich countries and those with per capita income of US $ 995 per annum or less
are called low-income countries. India comes in the category of middle income
countries because its per capita income in 2017 was just US $ 1820 per annum.
The rich countries, excluding countries of Middle East and certain other small
countries, are generally called developed countries.

(i) Which criterion is used in classifying countries according to World
Development Reports ?

(i) Which countries are called low-income countries according to 2017 ?
(ii) Which income group does India come in ?

Ru T a@ # &M & 9@ ol I8 T ugAf & I AT

ARG AR YRpE™ & sie Qfceriers TuHdT, Hiepias THeddl, Sied e g ot
THEU & A6 ARG ol e oSl o ARA-UihEM g @i, T1[E, 995 R I8 @
T W Y T8 e g1 §| i 3 1947 $o, 1965 S0, 1971 3o 3R 1999 Fo #
XA X SABRAYT [T W] MR & dIX A0S | QRN g3 Barsl e &R 9§
GO X STY-H9AR TR0 STiehare bl R Sieeiied fpar ST <@l 2

(i) HRI-TIHET™ & T B9 & ? 1
(ii) OIfpE™ WA 9X foha=l ) STERHOT fpa ? 1
(i) oM S STH-HLIR § SACiHaE BN HIF-T1 391 Sieaiied 3 @l & 7 1
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Read the text carefully and answer the following questions :

There are opportunities for historical similarity, cultural similarity,
geographical proximity and economic similarity between India and Pakistan. But
even today India-Pakistan relations have not been able to come out of the realm
of competition, tension, conflict and war. Pakistan attacked India in 1947 AD,
1965 AD, 1971 AD and 1999 AD but was defeated by the brave armies of India.
Desperate Pakistan is continuously encouraging indirect terrorism in Punjab
and Jammu-Kashmir in India.

(i) How are India-Pakistan relations ?
(i) How many times did Pakistan attack on India ?
(iii) Which country is encouraging terrorism in Punjab and Jammu-Kashmir ?

gug - g
SECTION -D
(g ST uw)

(Short Answer Type Questions)

IR | faesll SERAT & &7 SO 99 Sy 3
Mention three far-reaching effects of foreign invasions in India.

ARG | 99 & H & G@RE g S 3
Briefly describe tea cultivation in India.

SYAIRT GRET S & ST AR SUHRT & W< 77 T9d HAHHR HH-4 & ? 3

What are the three main rights the consumer has, according to the Consumer
Protection Act ?

T SIE R @1 7 f[9dvan o) 3

Mention three characteristics of federal government system.
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qug - &
SECTION - E
(Frereme® 59)
(Essay Type Questions)

37. TN fhE-FRE SR & YO & [0 SOEr € 7w e B Qe & i sEn

38.

T & S fRT S "R B ? 2+3

What types of pollution are industries responsible for ? What measures can be
taken in industries to prevent environmental degradation ?

SEE|
OR
EuArEe uRaed i & YA SaRw R § ugueEe aReed @ dT e S| Be-g 8 7
2+3
Mention two features of pipeline transport. What are the three major network of
pipeline transportation in India ?

e
OR
g SATENRT 97 -
Ffeme F= gl S B deEel W TE R R N W e e W oA oass
HAFAR T 3 AR g1 J o1 AE & el &l
TG G bl bl SHEAT HIoT 5

Competency Based Question :

Cabinet Ministers were discussing infrastructure plans. A Minister was
explaining why roads are generally more profitable than railway lines.

Explain his possible arguments.

g =i gSTHNE e W TR Siie 5
Throw light on the administrative system of Egypt.
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HAYAT

OR
AQIISIHET §SIA1 & €1 T A Sitae B o Hio 2V + 25
Describe the religious and social life of Mesopotamian Civilization.

39. THINH & 8 F&d & 7 TGS &l F1 B HW & ¢ 1+4

What is political party called ? What work do political parties ?

HAYAT

OR
e @ 998 J8a8 e FEe 8 qa™n T 2 ¢ 36 oY Faenll § 9ak i Sam
T E 7 144

Which has been described as the best governance system in the World ? Why is
it said to be better than other system ?

e -
SECTION-F
(AR Pie SR 9s)
(Map Skill Based Questions)

40. (A) Ru T AByg 3 Y@ AFRE W ORE # Sdve & B § SuiNaw s 1+1
On the given outline map of the World show any two Colonics of England
in Asia.

(B) RuU T grvg & Y@ qFrE W efiRad sty &9id
() ERER TUax S 1
(i) SRS a 1
(i) fesd are 1
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On the given outline map of India, show the following Dams :
(i) Sardar Sarovar Dam
(i) Hirakud Dam

(iii) Tehri Dam

(Faa gRedH qleniiEt & )
(For Blind Candidates Only)
qle : T 797 3 GEEIT TOuIEET % g 797 7% 40(A) ST 40(B) & @I T &/

The following questions are only for Blind Candidates in lieu of Question No.
40(A) and 40(B).

40. (A) URET 7eEY # dQve & Pig g Suadt & T faaw 141=2

Write the name of two Colony of England in Asia Continent.

(B) () UER X g g Tg & & 7 1
Sardar Sarovar Dam is in which State ?
(i) &R at e T F R 7 1
Hirakud Dam is in which State ?
(iti) feedt sty fobm T & B 7 1

Tehri Dam is in which State ?
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